1,25h

Varje vecka
Every week
Jede woche
Chaque semaine

Varje sasong
Every season
Jedes Jahr
Chaque saison

2-5

8000924 8000927

8000936 8034578

R1,0m

>EN 1176
>CPSC

<0,60m ANEBY, SWEDEN
GS +4650)380—
Eé I I A wwwhags.co

8000930 800093

8034580

| | 3,0m
| |
| |
L2
\\~~__l___——” Y
2,6m WI1=W2
L1=L2

ags.com

Rocking Equipment

121 461
1(4)

T [S>]-  [2009-01-14 |6




R1.0m 8000897
‘T “““ . 8000200
8000903
A L1 8000898
/ m \ 8000901
! x 8000904
| |
| |
: W1 W2 |
I -« 2,8m
| |
l T !
\\\\ L2 ///I
\\\___l____—/’/ R |
[ 2,4m . WI1=W2
L1=L2
R1,0
- 800095 800090
P === /
T 8001117
S 7sme L \
SR .
| |
| |
W1 W2 1 ¢
-~ -«
| -
| |
| T |
\\\ L2 ///
S l__ o \
WI1=W2
25m L1=12
R1,0m
Py W - 8000940
I ~ f 8001104
/// 8,5m?2 L ] \\\ _4
SR,
| |
iqL. <W—2>§ § ﬁhi%ggssg‘é/EDEN
: : ia?ﬂ.gcgs‘com
| |
i Rocking Equipment
L2 121 461
R R Y 2 (4)
* 3.0 o
- N T Wi=w2 ¢ TJ [S<e> DN [ 2012-09-18 |6

L1=L2




ANEBY, SWEDEN
+4650)380—
47300
www.hags.com

Rocking Equipment

121 461
3(4)

. Description MA ltem Number | QTY
1 420170 mm 127052 1
2 |570x50x5 mm 127040 4
3 |620x185 mm (15") 150430 1
4 |100x100x3 mm 127041 1
5 IMRT-GF M5x12 mm 312258 4
6 [MVBF M10x30 mm PH4 304651 4
7 [11x50x3 mm 326009 4
8 |K6S M10x30 mm 302508 4
9 |10,5x28x3 mm 326003 4
10 |Cage Nut M10 4,8-5,5 mm 324809 4
11 |Cage Nut M10 1.8-3.2 mm 324806 1
12 [M6S M10x30 mm 302208 1
13 [M6M-8 FZB M10 324103 4
14 |Loctite 270 3ml 262543 1

& T |S>]-  [2009-01-14 |6




NR

ANEBY, SWEDEN
+4650)380—
47300
www.hags.com

Rocking Equipment

121 461
4(4)

Description MA Iltem Number | QTY

8005963

11 [Cover 10, @25x12mm (261814) 4

14 |M6S M10x20 mm 302205 4

16 |M6M-8 FZB M10 324103 4
8005961

17 |CAP 10, @17x14,5 mm (261812) 4

18 |11x24x2 mm 326018 4

19 |Loctite 270 3ml 262543 1

T [S>]-  [2009-01-14 |6




	Sheet1
	Drawing View17
	Drawing View18
	Drawing View20
	Drawing View21
	Drawing View22
	Drawing View23
	Drawing View25
	Drawing View27
	Drawing View41
	Drawing View42
	Drawing View43
	Detail View I (1 : 20)

	Sheet4
	Drawing View39
	Drawing View40

	Sheet2
	Drawing View1
	Drawing View2
	Detail View A (1 : 2)
	Detail View B (1 : 4)
	Detail View E (1 : 10)
	Drawing View14
	Detail View G (1 : 4)
	Detail View H (1 : 5)

	Sheet3
	Drawing View10
	Detail View D (1 : 4)
	Drawing View12
	Detail View F (1 : 3)
	Drawing View16
	Drawing View37
	Drawing View36
	Detail View J (1 : 5)


